FOrReVvER | REDWOOD

From the Forest, For the Forest since 1995
866.332.2403 (TOLL FREE); 7am — 7pm Pacific Time, Monday-Saturday

ASSEMBLY INSTRUCTIONS FOR THE
MARAZUL WOODEN BEACH CHAIR

T 3
o .’.4" \‘ "_#\-4

e = g—"“"“"’&rw %ﬁ‘




"Juas sired ay) UO payJew sJaquinu ay) 01 Ydlew 1ou op asay ] ‘AJuo 9ouaJajal 10} aJe J[qeL Sexog JO JUaJuoy) ayl Ul Siaquinu 1ued :aloN

1Sa.1deg

sba

1835

‘ON

Buimeaq

uondriosag

‘L0

S3X04d 40 INJLNOD

PI1

MARAZUL WOODEN BEACH CHAIR

www.ForeverRedwood.com



"9z1S uo bBuipuadap Aren [[Im asempaey JnoA Jo suolsuswiq 810N

SINN ,.9T/S

SI8Ysem . 9T/

‘. L e e

*(sBa] ayy 01 1s31398Q 3Y) yoene 0])
siog .. % ¥ X ..9T/S

A [RENENERRERRRRNRRRAREH

"(sBaj ay1 01 158.{0B Y1
yoene 01 / yess ayy 01 sbs| ayy yoene o)
siog .. % € X ..9T/S

‘ON

Buimeaqg

uondiiosag

1S1TT13dVMAYVH

P| 2

MARAZUL WOODEN BEACH CHAIR

www.ForeverRedwood.com



Juas sired ay) UO paxJewW sJaquinu ayl 01 Yorew 1ou op asay] "Ajuo aouaiajad 1o} ade BUTMEIQ 8yl Ul S1aquinu 1ied :81oN

1Sa1Xdeg

sba

1ess

ON

NOILdIdOs3d

IR

P|3

MARAZUL WOODEN BEACH CHAIR

www.ForeverRedwood.com



Step 1: Place the seat (1) on its side. After that, use 5/16"" x 3 ¥42”" bolts (A) with washers and nuts to attach one leg (2) to the
seat. Each part has a series of numbers that indicate where to attach the part with the corresponding number.

Repeat this step to attach the other leg.

5/16" X 3 %" Bolts

Step 2: Turn the chair over its feet. Finally, attach the backrest (3) to the legs, use 5/16"" x 3% bolts (A) & 5/16"" x 6 ¥2"" bolts
(B) with washers and nuts. Each part has a series of numbers that indicate where to attach the part with the corresponding number.

5/16" X 6 %" Bolts

—_—
T
T~
\

5/16"" X 3 %" Bolts

Pl 4
MARAZUL WOODEN BEACH CHAIR
www.ForeverRedwood.com



This completes the Chair assembly. Hope you enjoy your set for many decades. If you ever have a problem or a question, don't
hesitate to call us (866 332 2403) or email us. We are here to support you.

P|5
MARAZUL WOODEN BEACH CHAIR
www.ForeverRedwood.com



